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15.4 Normal Distribution 



Block 


Date 




Normal Distribution – a continuous, symmetric, bell-shaped distribution of a variable.
Normal Curve – a symmetric, bell shaped curve where the highest value is the 


.
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· Within 1 standard deviation lies 

of the data.

· Within 2 standard deviations lies 

 of the data.

· Within 3 standard deviations lies 

 of the data.

T-table ( t is the number of standard deviations away ( p is the percent under the curve in ± t 

	t
	p
	
	t
	p
	
	t
	P
	
	t
	P

	0.0
	0.000
	
	0.9
	0.632
	
	1.7
	0.911
	
	2.5
	0.988

	0.1
	0.080
	
	1.0
	0.683
	
	1.8
	0.928
	
	2.58
	0.990

	0.2
	0.159
	
	1.1
	0.729
	
	1.9
	0.943
	
	2.6
	0.991

	0.3
	0.236
	
	1.2
	0.770
	
	1.96
	0.950
	
	2.7
	0.993

	0.4
	0.311
	
	1.3
	0.807
	
	2.0
	0.955
	
	2.8
	0.995

	0.5
	0.383
	
	1.4
	0.838
	
	2.1
	0.964
	
	2.9
	0.996

	0.6
	0.451
	
	1.5
	0.866
	
	2.2
	0.972
	
	3.0
	0.997

	0.7
	0.516
	
	1.6
	0.891
	
	2.3
	0.979
	
	3.5
	0.9995

	0.8
	0.576
	
	1.65
	0.900
	
	2.4
	0.984
	
	4.0
	0.9999


Practice Problems

1.  Of 10,000 watch batteries, the average lifetime is 500 days, with a standard deviation of 60 days.  

a) sketch a normal curve 




Determine how many batteries will last…

b) 440-560 days 


c) 380-620 days 


d) 320-680 days 

2.  Find the upper and lower limits of an interval about the mean within which 80% of the values will lie if 
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= 65 and 
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= 6.

3.  Find the upper and lower limits of an interval which 72% of the data will lie if 
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= 124 and 
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= 16.

4.  Given a normal distribution set of data with 
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= 60 and 
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= 10, find:

a) The percent of data in the interval 55-65?

b) The percent of data in the interval 45-75?

c) The percent of data that is less than 75?

d) The percent of data that is less than 85?

e) The percent that the value is above 70?

f) The percent that the value is above 75?


g) The value which 90% of the data lies below?
h) The value which 95% of the data lies below?

5.  Given the following 
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= 22 and 
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= 6 determine the following:

a) The percent of data between 6 and 25.

b) The interval that contains 80.7% of the data 

c) Draw a normal curve marking the 1
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, 2
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, 3
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 values and labeling the percentages in each region.
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